CLOCK (07-0036-G)

1: PLACE THE CLOCK AGAINST ONE OF THE PANEL SLATS ON YOUR PLAYSET.

2: CENTER THE SCREW HOLES IN THE CLOCK OVER THE CENTER OF THE SLAT.
3: ADJUST THE CLOCK UP OR DOWN TO SUIT THE NEEDS OF YOUR CHILDREN.

4: FASTEN THE CLOCK WITH #8 X 1-1/2" SCREWS IF YOUR SLAT IS 1" THICK. IF YOUR SLAT IS
LESS THAN 1" THICK THEN USE THE #8 X 1-1/4" SCREWS PROVIDED. IF YOU ARE
MOUNTING THE CLOCK TO A DIFFERENT MATERIAL THEN YOU MUST PROVID

YOUR OWN HARDWARE.

DETAIL A

NOTE: THE CLOCK IS NOT FUNCTIONAL.
IT IS MEANT TO BE AN AID TO TEACH
'YOUR CHILDREN ABOUT TIME, NUMBERS
AND ROMAN NUMERALS.

11— #8 X 1-1/2" WOOD SCREW IF SLAT IS 1" THICK.
| #8 X 1-1/4" WOOD SCREW IF SLAT IS LESS THAN 1" THICK.

|!
|

N TT




